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Sample Paper – 2010

Class – IX

Subject – Maths   

(SUMMATIVE ASSESSMENT - II)
TIME : 3 hours - 3½ hours                                                                             Maximum Marks : 80

General Instructions :

1. All questions are compulsory.

2. The question paper consists of 34 questions divided into 4 sections, section A, B, C, and  D.                   
3. Section A contains 12 multiple choice type questions, first 8 of which carries 1 mark each and the next 4 carries two marks each. Section B contains 7 questions of 2 marks each, section C contains 10 questions of 3 marks each and section D contains 5 questions of 4 marks each.

4. Use of calculators is not permitted.
SECTION: A

1) The sum of two irrational numbers may be

(a) Rational 




(b) Irrational 

(c) Rational or Irrational 

(d) None of these

2)  For the polynomial p(x) = 2x2-5x , which one is correct

     (a) Binomial, degree 2

          (b) Monomial, degree 2 


     (c) Trinomial, degree 1                       (d) Binomial, degree 3
3)  Find the value of x , so that POQ becomes a straight line 

[image: image1.png]     (a) x = 42º


(b) x = 30º

     (c) x = 6º


(d) x = 180/35º
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4)  ABCD is a quadrilateral in which AC = AD and AB bisects <A then ∆ABC and ∆ABD are congruent by criteria 

    (a) AAS 

(b) SAS 
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    (c) RHS 

(d) SSS

5)  If lines l and m are parallel then the value of <xº

    (a) 42º 

(b) 92º

    (c) 88º

(d) 50º

6) The length of altitude of an equilateral triangle is 15√3 cm, then the length of its side is 

    (a) 30 cm 

(b) 15√3 cm 
(c) 60 cm 
         (d) none of these 

7) ABCD is a cyclic quadrilateral in which AC and BD are  diagonals. If <DBC = 55º and <BAC = 45º, then < BCD is 
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   (a) 100 º 

(b) 80 º 

   (c) 90 º

(d) 55 º

8) 5/√7+√2 will be equal to 

(a) 5(√7-√2)

(b) √7-√2/5

(c) 5/√7-√2

(d) √7-√2

9) The diagonals of a Rhombus are 24 cm and 10 cm, then their area and perimeter are 

    (a) 120 cm2  ; 52 cm

(b) 240 cm2 ; 25cm
    (c) 60 cm2 ; 68 m 

(d) 240 cm2 ; 52 cm 
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10) f (1/3) for f(x) = x4-x3+x will be

     (a) 31/81



(b) 25/27

     (c) 25/81



(d) 29/81

11) In the given fig. if l اا m then x equals to

     (a) 70º


  (b) 90º
     (c) 50º


  (d) 30º

12) If all the sides of a quadrilateral are equal, it must be

      (a) Square  


(b) Parallelogram

      (c) Kite



(d) Trapezium

SECTION: B 

13) Evaluate:
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      (x-a) 3+(x-b) 3+ (x-c) 3-3(x-a) (x-b) (x-c); where 3x = a+b+c 

14) In the given fig. , <QRT = <SRT, PT is the angle bisector 

      of <QPS . Prove that QR=RS.

15) ABCD is a parallelogram. If P is a point on AD and 
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ar (∆BAP) = 15cm2 and ar (∆CPD) = 30 cm2 , then find 
the area of ااgm ABCD.

16) If O is the centre of the circle, the angle subtended by the
 arc BCD at the centre is 140º. BC is produced to P. Determine 
<BCD and <DCP.

17) A solid cube of side 24 cm is cut into 27 cubes of equal volume. What will be the side of the new cube? 
18) If the mean of five observations, x, x+2, x+4, x+6 and x+8 is 11. Find the mean of the first three observations.

19) Find the median of 19, 25, 60, 49, 36, 31, 30, 32, and56, if 25 is replaced by 52, what will be the new median ?
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SECTION: C
20) If x = 7-4√3, Find the value of √x+1/√x  
21) Factorize: 

       x2-51x+378
22) In figure ABااED and <ABC=30º, <EDC=70º. Find x
23) PQRS is a quadrilateral and T and U are respectively points on PS and RS such that, PQ=RQ, <PQT = <RQU and <TQS = <UQS, prove that QT=QU

24) Show that the quadrilateral formed by joining the mid-points of the consecutive sides of a rectangle, is a Rhombus.

25)  Two chords AB and CD of lengths 6cm and 8cm of a circle are parallel and are on the same side of its centre. If the distance between them is 1cm, find the radius of the circle.  

26) ABCD is a cyclic quadrilateral whose diagonals intersect at a point E. If <DBC = 70º, <BAC = 30º, find <BCD further if AB=DC, find <ECD.

27) The inner diameter of the cylinder is 35cm and its outer diameter is 42cm. If its height is one metre, find the total surface area of the cylinder.

28) If the radius and height of the cylinder, a cone and a hemisphere are same, find the ratio of their volumes.

29) From the following histogram cum frequency polygon, find:
      (a) How many students are in the weight group of 35.5-40.5 kg?
      (b) Which weight group has maximum number of students?

      (c) How many students weigh less than 45.5 kg?
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SECTION: D

30) Prove that the angle subtended by an arc at the centre is double the angle subtended by it at any point on remaining part of the circle.

31) The following are the marks of a group of 95 students in a test of mental maths ability:
	Marks
	50-52
	47-49
	44-46
	43-41
	38-40
	35-37
	32-34

	No. of students
	5
	10
	15
	19
	21
	13
	12


 Construct the Frequency Polygon. 
32) Factorize:
       2x3-5x2-19x+42 

33)Prove that the quadrilateral formed by the angle bisectors of a cyclic  quadrilateral is also cyclic.

34) If the radius and slant height of a cone are in the ratio 4:7 and C.S.A is 792cm2, find its radius.
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	ANSWERS


	Ques.No.
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	Answer
	c
	a
	b
	b
	c
	a
	b
	d
	a
	c
	a
	b


13) 0







27) 3984.75П cm2
14) Proof






28) 3:1:2

15) 90 cm2






 29) (i) 6 (ii) 40.5-45.5 (iii) 21

16) < BCD = 110º, < DCP = 70º



30) Proof of theorem

17) 8cm






31) Frequency Polygon

18) 9







32) (x-2) (x+3) (2x-7)

19) 32 and 36  





33) Proof

20) 16







34) 12 cm 

21) (x-9) (x-42)

22) x =260º

23) Proof

24) Proof

25) 5cm

26) < BCD = 80º, < ECD = 50º
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